
	
  

Corso	
  di	
  Analisi	
  Economica	
  del	
  Diritto	
  

Prova	
  intermedia,	
  19	
  Maggio	
  2015	
  

	
  

	
  

Nome……………………………………………………………………………………………………………..	
  

Cognome……………………………………………………………………………………………………….	
  

Matricola……………………………………………………………………………………………………….	
  

Email	
  (per	
  la	
  comunicazione	
  del	
  voto)……………………………………………………………	
  

	
  

Si	
  scelgano	
  tre	
  delle	
  seguenti	
  domande.	
  Tempo:	
  90	
  minuti.	
  (Rispondere	
  sul	
  foglio	
  protocollo)	
  

	
  

Domanda	
   1.	
   Dopo	
   aver	
   illustrato	
   il	
   Teorema	
   di	
   Coase	
   e	
   il	
   concetto	
   di	
   costo	
   di	
   transazione,	
   si	
  
spieghi	
  (i)	
  in	
  cosa	
  il	
  meccanismo	
  dei	
  permessi	
  negoziabili	
  previsto	
  dal	
  protocollo	
  di	
  Kyoto	
  applica	
  il	
  
Teorema	
  di	
  Coase,	
  e	
  (ii)	
  in	
  cosa	
  non	
  è	
  una	
  sua	
  mera	
  applicazione.	
  	
  

	
  

Domanda	
   2.	
   Fornendo	
   qualche	
   esempio	
   si	
   descriva	
   la	
   distinzione	
   tra	
   tutela	
   inibitoria	
   e	
   tutela	
  
risarcitoria	
  in	
  termini	
  di	
  costi	
  di	
  transazione.	
  	
  

	
  

Domanda	
  3.	
  Si	
   commenti	
   la	
   seguente	
  proposizione:	
   I	
  diritti	
  di	
  proprietà	
  secondo	
   l’argomento	
  di	
  
Coase	
  rappresentano	
  asset	
  produttivi.	
  	
  

	
  

Domanda	
  4.	
  Quale	
  delle	
  seguenti	
  due	
   frasi	
  è	
  corretta?	
   (si	
  argomenti	
   la	
   risposta	
  per	
  ambedue	
   le	
  
frasi)	
  

(i) La	
  regola	
  di	
  Hand	
  è	
  una	
  regola	
  efficiente.	
  
(ii) La	
  responsabilità	
  oggettiva	
  è	
  sempre	
  inefficiente.	
  	
  

	
  

	
  


